T TEHEEARE

(BLX-2) Bl KB AT T3 (R )

Fepr 1 BlKEAMR L

XM 00001 B.P #EE&E+T

NO b4,/ 3i#s -~k B g HAL EHEKX

1 SESERBUELEDA BHO.20m3 BB A T=AE S+ A NS =1%1. 2+0
SEEEE 1 0em L T A 1.200 m2

2 IR £ BGHIKHY I CHI=AE RoxiffR=1%1. 2%0. 544
A B 0.653 m3

3 EIHEEI] BHO0.20m3 PEH TH2=4E FoxME*E=1%1. 2%0. 816

)= 0.979 m3

4 R (FE I ) BHO.20m3 MR TUL=4E Forfigsge=1%1. 2%0. 92
Tyiay AR g 1.104 m3

5 AR (B E) BHO.20m3 PR B TUQ=%E sl ZB=1%1. 2%0. 44
RC-40# & + & 7 5 [E = 0.528 m3

6 B (Fh I ) BH0.20m3 PR BEPERR GOk &) =1L Fo+ & Wi i ff=—1%1%0. 038
Tyiay bR g -0.038 m3

7 BEERFEEMNEE As . BEAA ALy (R EIER) =Rl i Fe /R X =1. 2%0. 03

)= 0.036 m3

8 PEFRALFLERE BHO0.20m3 DTr4t BERTE My (PR D) =i A+ <=1, 2*0. 03
As3lL - CoBll (44%) 9.0knLL B DIDFA P 0.036 m3

9 /A +JEME BH0.20m3 DTr4t B - TEHR=H1 53 +H2 53 ik TR 43 (S +llm) — #5458 =0. 65
18 9.0kmLL T DIDA )= 1.632 m3 3+0.979+0+00

10 EEET (HE-KE) 3l )E IS B =E S lg + AR IR =1%1. 2+0
HEBRIEAs 7 T740 JE 1.200 m2




T TEHEEARE

(BLX-2) Bl KB AT T3 (R )

Fepr 1 BlKEAMR L

X[ 00002 B.P~B.P+2.20

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAi g% T.=L=2. 2
6 200 )= 2.200 m
9 WIZFLLR)—T BT BB L=1=2. 2
6 200 g 2.200 m
3 R EWRT—T7 L R T=1=2. 2
6 200 )= 2.200 m
4 Rk —MAR L IR L=L=2. 2
)= 2.200 m
5 A —h AR T=1=2. 2
150mm X 50m,/ %  2f5470IA A L) 2.200 m
6 EWEERREIMET T AT 7 MM SRR T T =H 2 0 R PR AR B N B =2, 2%2+40
15emPL T B 4.400 m
7 BEERIGIRAL AL TR K AL Bl = (B EE AT B4 I+ AL+ I D) *0. 023+
b 0.005 m3 EHEEE=(2. 2%2+0)*0. 023%0. 05
8  EHESIREUELAEIA BHO0.20m3 SRR T =JE g+ A N =2, 2%0. 6+0
EAEIE10emLA T B 1.320 m2
9 ‘&M BH0.20m3 PR THI=ZE Folig+%8=2. 2%0. 6%1. 14
)= 1.505 m3
10 ERE4EHI BHO.20m3 SR L G4 - L) =AE £ A LxiEWasi A Hx G5 T =0. 5%
5 0.060 m3 0.6%0. 2%1
11 EEHEE (W E) BH0.20m3 R TUL=HE Rk ii=2. 2%0. 6%0. 72
Iyay R )= 0.950 m3
12 B R (kg ) BHO0.20m3 PR TU2=4E Fexg#iZE=2. 2%0. 6%0. 44
RC-40H R + & L\ [ 6D 2 0.581 m3
13 EEERE (WHER) BH0.20m3 PR T ISR - JI55) =IE & A LxiEWasiZ A H 5 T 3k=0. 5%
Iyay R b= 0.060 m3 0.6%0.2%1
14 EEEHERE (M R) BH0.20m3 HRBEPERR GOk &) =4k £+ 48 Wi i fE=—1%2. 2%0. 038
Iyiay bR g -0.084 m3
15 EEERBEIEMMEL As BERT ALy (R A =Mk i AE+JE X =1. 32%0. 05
)= 0.066 m3
16 PEPEALEEIERE BH0.20m3 DTr4t BERTE M (PR HIER) = A+ 8 X =1. 32*0. 05
As3lL - CoBll (#4%) 9.0kn2L B DIDF P 0.066 m3
17 FAE+5EME BHO0.20m3 DTr4t B - TEHR=H1 53 +H2 53 ik TR 4y (IS +lm) -~ 548 =1. 50
T# 9.0kmLl T DIDA g 1.565 m3 5+0+0.06+00
18 Ei¥ET (HE-HJE)3cnl)E IAE IH=E F+ g+ E A N =2, 2%0. 6+0
BABRIEAs 7745 2 1.320 m2




T TEHEEARE

(BLX-2) Bl KB AT T3 (R )

BEAR 1 Bl KB e L

X[H] 00003 B.P+2.20~No. 3+6. 90

NO 4/ 3k ~HE B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAik T.=L=64. 7
6 200 )= 64.700 m
2 RIZFLLR)—THET FRHRE L=1=64. 7
$ 200 g 64.700 m
3 R EWRT—T7 L R T=1=64. 7
6 200 )= 64.700 m
4 Rk —MAR L R T=1=64. 7
g 64.700 m
5 A —h AR T=1=64. 7
150mm X 50m & 2fZ 410 iAFx b= 64.700 m
6 EKEER WK RER=1=64. 7
g 64.700 m
7 EHEERRUINT T AT 7V MR SRAEY) B T =545 0T AR B« AR IN =64, 7%2+0
15ecmPA T B 129.400 m
8 BRI IRL SRS T 7K AL B = (B S AE 40 I+ AR+ I BRD) *0. 023%
5 0.149 m3 EfzEE=(64. 7%2+0)*0. 023*0. 05
9 AHIERBUELFGA BH0.20m3 EEMR A T =S R+ A N =64, 7x0. 6+0
BHEEE10emA T B 38.820 m2
10 ‘FHEHI BHO0.20m3 Y TH1=4E F+lE+E=64. 7%0. 6%0. 87
g 33.773 m3
11 EFK4EHE] BHO0.20m3 R T G - JB30) =JER A LafEWasiZE A H+ & Frk=0. 5%
g 0.960 m3 0.6%0.2%16
12 B R (kg ) BHO0.20m3 B TUL=4E e #E+E=64. 7%0. 6%0. 72
Iyioay bR g 27.950 m3
13 EHHEE (W E) BH0.20m3 R TU2=FE R+l *E=64. 7%0. 6%0. 17
RC-40HL & + & 7 5 [E g 6.599 m3
14 ERHE (B R BH0.20m3 R T (GHETRAR - JE550) =JE B A LeiEWaxiZE A H+ & Fr#=0. 5%
Iyiay bR )= 0.960 m3 0.6%0.2%16
15 EEERE (R R) BH0.20m3 PR RAZERR (HaR ) =4 o W i Al =— 1%64. 7%0. 038
Iyay R g -2.459 m3
16 FEREEIEMAIL As FER JLG3 (B HISE) =Rl i[5 X =38. 820. 05
g 1.941 m3
17  PEREALFLEME BHO0.20m3 DTr4t BERA T (BE 10 =Al A i Ff+ /B X =38. 82%0. 05
AsHil - Coifl (E55) 9.0kmEA T DIDA g 1.941 m3
18 FATEH: BHO0.20m3 DTrdt T 3B HR=H1 4> +H245 +ik IR 4 (B +IT) —Hi2%%=33. 7
+# 9.0kmLL T DIDH = 34.733 w3 73+0+0.96+00
19 Hh%ET (HEE-¥E)3cnl /@ A B =E FH g+ I AR I H=64. 7%0. 6+0
FAEBRIEAs 771 2 38.820 m2




T TR E ‘+ H

(BLX-2) Bl KB AT T3 (R )
R 1 BCKEATRR L

X[ 00004 No.3+6.90~E.P

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAis% T.=L=3. 1
6 200 1% 3.100 m
2 RV FLLR)—THWET A T=1=3. 1
6 200 % 3.100 m
3 R EWRT—T7 L B R T=1=3.1
6 200 1% 3.100 m
4 R — M L B R T=1=3. 1
% 3.100 m
5 ik —b IR T=1=3. 1
150mm X 50m & 2fZ 410 iAFx ® 3.100 m
6 EHIERRUINT TAT7 VMRS SRS T T =E 2 4 R PR AR B N B =3, 1%2+40
15emPL T B 6.200 m
7 BEERIGIRAL A TR K AL BR= (B EEAE B0 I+ AL+ IR *0. 023%
b 0.007 m3 &= (3. 1%2+0)*0. 023%0. 05
8  ERLEANEUELAA BHO0.20m3 SRR T =1 BexlE + I AN F=3. 1%0. 9+0
AR 10em L T % 2.790 m2
9 ‘&M BH0.20m3 PR THI=ZE R+ ig+%8=3. 1%0. 9%1. 62
% 4,520 m3
10 ‘FHEHI BHO0.20m3 R T GRERHE - JE10) =2E 5 A LgEWaskse A HxfE AT %=0. 5%
" 0.270 m3 0.9%0. 2%3
11 R T OB R A - Bk ) R TR T=EE=3.1
L5m<#EHIE=<1.8m ~'vy/&v|$k e 3.100 m
12 B R (kg ) BHO0.20m3 PR TUL=4E F*IE*4E=3. 1%0. 9%0. 72
7yvar AR & 2.009 m3
13 EEIERE (R RE) BH0.20m3 R T U2=E e+ igkiZE=3. 1%0. 9%0. 92
RC-40HL & + & 7 5 [E 7% 2.567 m3
14 EEEHERE (M R) BH0.20m3 AT (R - J50) =JE R A LxiEWa*iZE A H+ & FT#=0. 5%
7yvar AR R & 0.270 m3 0.9%0.2%3
15 EEERE (R R) BH0.20m3 PR RZERR CHaR ) =4 Fox & Wi ffi=—1%3. 1%0. 038
7yiar AR " -0.118 m3
16 FERFEIEMLIE As BERA LSy (BEHIFR) =il A i Fe 5 X =2. 79%0. 05
% 0.140 m3
17  PEREALFLEME BHO0.20m3 DTr4t BERA T (BRI =R R /R X =2. 79%0. 05
AsHlL - Codifl (E55) 0.5kmEA T DIDA ® 0.140 m3
18 &4 5@ BHO0.20m3 DTrdt T 1 ER=T1 45 +H2 45+ T4 45 B HA ) i 2545 =4. 52
17 0.5kmEL T DIDA % 4.790 m3 +0+0.27+00
19 Hh%ET (HEE-¥E)3cnl /@ A IH=JE F* g+ AR I =3, 1%0. 9+0
BRI EAs I 7% 2.790 m2




T TEHEEARE

(BLX-2) Bl KB AT T3 (R )

Fepr 1 BlKEAMR L

XM 00005 E.P #&EfSE+T
NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE SHAEY) W =545 T B H A« ARSI =1%2+1. 5
15emPL T )= 3.500 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.004 m3 &HEEE=(1%2+1.5)*0. 023*0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T = BB+ IR N =1%1. 2+0
AHEEE10emPA T ® 1.200 m2
4RIV T BIGHKISHY JEHE TH1=JE Fe*tg+E=1%1. 2*%0. 728
A & 0.874 m3
5 EIHEEI] BHO0.20m3 PEH TH2=4E Fox =11, 2%1. 092
1% 1.310 m3
6 R T OB SR - B 1) SRR TR T=fERE=1
L.8m<HRHIE=<2.0m »'v/rvs|tk " 1.000 m
7 ERIERE (B ) BHO.20m3 PR T U= sl Z8=1%1. 2%0. 92
Iyay R 1% 1.104 m3
8 BB (Fhg I ) BHO.20m3 MR TU2=4E Fofigsfe=1%1. 2%0. 92
RC-40H R + & o\ [ 6D & 1.104 m3
9 EEIERE (WHIERE)BH0.20m3 PR BRAZERR (GHaR ) =4 o Wi Al =— 1 1%0. 038
Iyay R ER % -0.038 m3
10 FEREEIEMAIL As JFERA ALy (B HIER) =Rl i Fif+ )5 X =1. 2%0. 05
% 0.060 m3
11 PEREALFLEME BHO0.20m3 DTr4t BERA T (BRI =R R /R X =1. 2%0. 05
AsHlL - Codifl (£5%) 0.5kmEA T DIDA ® 0.060 m3
12 &4 5@ BHO0.20m3 DTrdt T B R=I1 45 +H2 45+ T4 45 (B +R ) 5574 =0. 87
17 0.5kmEL T DIDA % 2.184 m3 4+1.31+0+00
13 AfdE T (HEE-¥E)3cnl /@ A IH=E FHlE+ AR IR =1%1. 2+0
BRI EAs I 7% 1.200 m2




T TEHEEARE

(BLX-2) Bl KB AT T3 (R )

Fepr 1 BlKEAMR L

X[ 10001 JEM-%&

NO b4,/ 3i#s -~k B g HAL EHEKX
1 e AR ()RS T figk T=1=1
6 50 )= 1.000 m
2 I —MEER T EHR =LA
)= 1.000 m
3 AT —b AR T=L=1
150mm X 50m & 262410 iA Fx b= 1.000 m
4 EHIERRUINT T AT 7 VMRS SR YT T =52 4 = 8 AR B I = 15240
15emPL T B 2.000 m
5 BEERIGIRAL AR TR K AL BR= (Bl EEAE B4 S+ A+ IR *0. 023%
b 0.002 m3 &%= (1%2+0)*0. 023%0. 05
6 ERLERNEUELAA BHO0.20m3 SRR A T =1 BexlE + I AN H =10, 6+0
EAEE10emLA T B 0.600 m2
7 EIKHEEI] BHO0.20m3 PR THI=E FoxgE=1%0. 6%0. 71
)= 0.426 m3
8 BB (FEhE I ) BHO.20m3 R TUL=4E Rorfigx4e=1%0. 6%0. 46
Tyiay AR g 0.276 m3
9 EEME (B R) BH0.20m3 P B T U2=%E Rkl 8=1%0. 6%0. 27
RC-40# & + & 7 5 [E g 0.162 m3
10 B R (kg ) BHO0.20m3 B PERR GOk &) =4E K48 Wi i fE=—1%1%0. 003
Iyioay bR g -0.003 m3
11 EEEEIEMIR As - BERA ALy (Bl IS ) = Ak o Fif+ )5 < =0. 6%0. 05
)= 0.030 m3
12 PEREALEEIERE BH0.20m3 DTr4t BERE M (R D) =l i+ < =0. 6%0. 05
As3lL - CoBll (#4%) 9.0kn2L B DIDF P 0.030 m3
13 F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (S +llm) — #5485 =0. 42
18 9.0kmLL T DIDA )= 0.426 m3 6+0+0+00
14 HET (HE-KF)3ml)E A8 |H=FE FHlg + A TN A =1%0. 6+0
HEBRIEAs 7 T74L P 0.600 m2




T TEHEEARE

(BLX-2) Bl KB AT T3 (R )

Fepr 1 BlKEAMR L

X[ 20001 FE/KABCE

NO b4,/ 3i#s -~k B g HAL EHEKX
1 WEHEkE=VE PR T VPA % L=L=2. 2
® 50 )= 2.200 m
2 EHIERRUINT T AT 7 VMR R SEEE) T T =52 0 B IR A B I =2, 2%2+1. 8
15emPL T B 6.200 m
3 BEERIGIRAL AL TR K AL BR= (Bl EEAE B I+ AL+ IR *0. 023+
)= 0.007 m3 EFEEE=(2. 2%2+1. 8)*0. 023%0. 05
4 EREERNEUELAA BHO0.20m3 SRR A T =1 BexlE AN F=2. 2%1. 2+0
EAEE10emLA T B 2.640 m2
5 RHEY T BSHIRKHY P THI=ZE R+ ig+%E=2. 2%1. 2%0. 396
ANT] 5 1.045 m3
6 ‘FIHEE] BHO0.20m3 JEHI TH2=E E-xE*i%E=2. 2%1. 2%0. 594
)= 1.568 m3
7 ERIERE (B ) BHO.20m3 HBE T U1 =4E Ee g ZE=2. 2%1. 2%0. 92
Iioay R LR )= 2.429 m3
8 BB (Fhg I ) BHO.20m3 MR TU2=4E Forfigsfe=2. 2%1. 2%0. 44
RC-40H R + & o\ [ 6D Ve 1.162 m3
9 EEIERE (WHIERE)BH0.20m3 PR RAZERR (HaR ) =4 o W Al =—1%2. 2%0. 003
Iioay R LR )= -0.007 m3
10 FEFRFEIEME As BER LS5 (BRAEIER) =R A+ X =2. 64%0. 05
)= 0.132 m3
11 PEREALFLEME BHO0.20m3 DTr4t BERA T (BRI =R R+ /R X =2. 64%0. 05
AsHll - Codifl (£55) 9.0kmEA T DIDA & 0.132 m3
12 &4 5@ BHO0.20m3 DTrdt T B R=11 45 +H2 45+ T4 45 (B +RIH) — 574 =1. 04
17 9.0kmLL F DIDA g 2.613 m3 b+1.568+0+00
13 AfdE T (HEE-¥E)3cnl /@ IS IH=JE F* g+ AR I =2, 2%1. 240
BRI EAs I )= 2.640 m2




T TEHEEARE

(BLX-2) Bl KB AT T3 (R )

Fepr 1 BlKEAMR L

X[H 30001

B #5 & TR 2E (HIVP ¢ 50)

NO b4,/ 3i#s -~k B g HAL EHEKX
1 WEED ETEAL (D)) mE ke BERR A == FEIEK=33
® 50 )= 33.000 m
2 ERLERNEUELAEA BHO0.20m3 SRR A T = B & + T AN =33%0. 6+0
EAEE10emLA T B 19.800 m2
3 EIHEEI] BHO0.20m3 PE | THI=2E F* g +E=33%0. 6%0. 53
)= 10.494 m3
4 FRYEE] BHO0.20m3 JEHIFERR () =4 Fox % Wik A= 1%33%0. 003
g -0.099 m3
5 AR (B E) BHO.20m3 H B T U1 =4E 55 ZE=33%0. 6%0. 53
RC-40# 2 + &> 5 E o )= 10.494 m3
6 EIFEIMILIT As BERA LSy (BEHIFR) =il A Fe /5 X =19. 8%0. 03
)= 0.594 m3
7 PEFSALPRLEHE BHO0.20m3 DTr4t BERA T (BRI =i R+ /R X =19. 8%0. 03
AsHil - Coifl (£55) 9.0kmEA T DIDA & 0.594 m3
8  F& I3EME BHO0.20m3 DTrdt T B HR=H1 4> +H24y +ik TR 4 GBS+ ) — i3 4%=10. 4
17 9.0kmLL F DIDA g 10.395 m3 94+0+0+0-0. 099
9 AT (HEE-¥H)3mlfE IS 1B =AE FH g+ I AR I 5H=33%0. 6+0
BRI EEAs I )= 19.800 m2




T TEHEEARE

(BLX-2) Bl KB AT T3 (R )

Fepr 1 BlKEAMR L

X[# 30002 FEEFE R (PP ¢ 20)

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EERNEUELFHA BHO0.20m3 AEERE A T = BB + I A N =35%0. 6+0
SHEEIE10em A T & 21.000 m2
2 FRSHEEI BHO0.20m3 I TH1 =4 g E=35%0. 6%0. 5
)= 10.500 m3
3 E LR (FgRRkiE &) BHO.20m3 PR B T U1=%E R sl Z8=35%0. 6%0. 5
RC-40H R + # o 7 i [E 6D & 10. 500 m3
A REEREEEEMMLFE As BERA LSy (BEHITD) =il i FEk /S X =21%0. 03
)= 0.630 m3
5 PEFSMLPRLERE BHO0.20m3 DTr4t BERTE S (PR ) =i A A+ 8 X =21%0. 03
AsHiL - Coifl (E55) 9.0kmEA T DIDA & 0.630 m3
6 &4 EE BHO0.20m3 DTrdt B 3B HR=H1 4> +H245 +ik IR 4 (B +IT) —#i2%%=10. 5
17 9.0kmEL F DIDA g 10.500 m3 +0+0+00
7 EREET (BEE-HJE) 3cmlfE IS 1B =1E F# g+ I AR N 5H=35%0. 6+0
BRI EEAs I )= 21.000 m2




T TEHEEARE

(BLX-2) Bl KB AT T3 (R )

BEAR 1 AR KB AR T

X[E 00001 #57K%E SSP ¢ 50

10 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 RVZFLAE AT UL AE Paft T fiax L=L=1. 4
® 50 )= 1.400 m
2 Rk —MAR L IR IL=L=1.4
)= 1.400 m
3 AT —b FHAR T=L=1. 4
150mm X 50m & 262410 iA Fx b= 1.400 m
4 EHIERRUINT T AT 7 VMRS SRS T =Hl 2 4 R PR AR B N B =1, 4%2+40
15emPL T B 2.800 m
5 BEERIGIRAL AR TR K AL BR= (B EEAE B4 I+ AL+ IR *0. 023+
b 0.003 m3 EHEEE=(1. 4%2+0)*0. 023%0. 05
6 ERLERNEUELAA BHO0.20m3 SRR T =1 BexlE AN F=1. 4%0. 6+0
EAEE10emLA T B 0.840 m2
7 EIKHEEI] BHO0.20m3 PR THI=ZE F+ig+E=1. 4%0. 6%0. 61
)= 0.512 m3
8 BB (FEhE I ) BHO.20m3 R TUL=4E Rexfigxfe=1. 4%0. 6%0. 46
Tyiay AR g 0.386 m3
9 EHHEE (W) BH0.20m3 PR TU2=JE Rk gk ii=1. 4%0. 6%0. 17
RC-40# & + & 7 5 [E )= 0.143 m3
10 B R (kg ) BHO0.20m3 HRBEPERR GOk &) =1 K+ Wi ff=—1%1. 4%0. 002
Iyioay bR g -0.003 m3
11 EERBEIEMMEL As BEA ALy (R BIER) =Rl i Fe /R X =0. 84%0. 05
)= 0.042 m3
12 PEPRALEER: BH0.20m3 DTrdt BERE My (PR HIER) =i A+ R X =0. 84*0. 05
As3lL - CoBll (#4%) 9.0kn2L B DIDF P 0.042 m3
13 F/AE+5EME BHO0.20m3 DTr4t 7 1T R=H1 53 +H2 53 HiE T 88 40 (IS +ll ) —# &45=0. 51
18 9.0kmLL T DIDA )= 0.512 m3 2+0+0+00
14 HET (HE-KF)3ml)E A IH=E F+ g+ EFE N =1, 4%0. 6+0
HEBRIEAs 7 T74L P 0.840 m2




T TEHEEARE

(BLX-2) Bl KB AT T3 (R )

BEAR 1 AR KB AR T

11

XfH 00002 #A7/KE PP ¢ 20
NO b4,/ 3i#s -~k B g HAL EHEKX
1 HERR —MAR T AR T=L=5. 6
g 5.600 m
2 FEET—b R T=1=5. 6
150mm X 50m,// % 25 Hr0IAF» J= 5.600 m
3 AHLERRUINT TAT 7V M SRAEY) B T =545 AT B PR H S« AR BN =5, 6%2+0
15ecmlL T )= 11.200 m
4 BEFRI5IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
& 0.013 m3 &%= (5. 6%2+0)*0. 023*0. 05
5 AHLEAREUELURDA BHO0.20m3 AREERE A T =1 BB + I AN =5. 6%0. 6+0
AAEIE 1 0cm LA T Vs 3.360 m2
6 ‘FIHEE] BHO0.20m3 1] T H1=4E e ME%E=5. 6%0. 6x0. 58
)= 1.949 m3
7 ERIERE (B ) BHO.20m3 H B T U1 =4E Ee g 1ZE=5. 6%0. 6%0. 43
Iyay R g 1.445 m3
8 BB (Fhg I ) BHO.20m3 R TU2=4E i x{4e=5. 6%0. 6%0. 17
RC-40H R + & o\ [ 6D Ve 0.571 m3
9 EEIERE (WHIERE)BH0.20m3 PR RAZERR CGHTRR &) =4 Fox & W i f=—1%5. 6%0. 001
Iyay R ER g -0.006 m3
10 FEFRFEIEME As BER LS5 (BRAEIER) =TI A+ X =3. 36%0. 05
)= 0.168 m3
11 PEREALFLEME BHO0.20m3 DTr4t BERA T (BE 130 =i R+ /R X =3. 36%0. 05
AsHll - Codifl (£55) 9.0kmEA T DIDA & 0.168 m3
12 &4 5@ BHO0.20m3 DTrdt T 1 ER=11 45 +H2 45+ T4 45 (B +RI ) — =74 =1. 94
+# 9.0kmLL T DIDH g 1.949 m3 9+0+0+00
13 AfdE T (HEE-¥E)3cnl /@ IS IH =4 F* g+ A I =5, 6%0. 6+0
BRI EAs I )= 3.360 m2




FEAR 1 BlKEANRR L

T TG E

1 BH
NO LTS ==X va E5 (BB XKME S/ TE E) a1
1| siEAmex (NJ) LT 10001
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